A>lg 98, (59 @y pine ] 3) &y inall HgwuSUl o)

X

5.28 2

8.9

5.852

2.7

4.235

6.2

6.23 8

8.4

X

1.29 1

5.4

2432

6.4

6.713

9.3

5.196

4.3

6.617

7.095

1.234

2425

0.354
4.7

X
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5.898

6.8

1.92 2

7.6

3177

5.5

3.527

2.2

4.60 1

7.8

2wl

3.278

x 3

8.93 4

5.8

4.98 1

3.7

8.249

6.2

9.817

4.2
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2>lg 28, (59 &y yuine o6l 3) &y il oSl O o)

5.189
X 6.9
35,8041

5.28 2
X 8.9
47,0098

5852
X 2.7
15,8004

4.235
X 6.2
26,257

6.23 8
X 8.4
52,3992

4.24 4
X 9.2
39,0448

1.291
X 54
6,9714

2432
X 6.4
15,5648

6.71 3
X 9.3
62,4309

5.196
X 43
22,3428

X

X

X

X

6.617
9.3

61,5381

7.095
6.3

44,6985

1.234
9.1

11,2294

2425
6.1

14,7925

0354
4.7

1,6638
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X

X

X

X

5.898
6.8

40,1064

1.922
7.6

14,6072

3177
55

17,4735

3.527
2.2

7,7594

4.60 1
7.8

35,8878

X

X

X

X

2wl

3.278
X 3
9,834

8.934
5.8

51,8172

4981
3.7

18,4297

8.249
6.2

51,1438

9.817
4.2

41,2314



https://www.snowmath.com

